
Today’s Quiz. 

 Which company is 

represented by the 

below logo?  

                
 

Last Quiz answer:  a) 0 

 Put 𝜃 = 0 𝑜𝑟  𝜃 =
𝜋

2
  Then 𝒙 = 𝐬𝐢𝐧 𝟎 + 𝐜𝐨𝐬 𝟎  =0+1 = 1 

                                                   𝒚 = 𝐬𝐢𝐧 𝟎 𝐜𝐨𝐬 𝟎 = 0x1 = 0 

 Now 𝒙𝟒 − 𝟒𝒙𝟐𝒚 − 𝟐𝒙𝟐 + 𝟒𝒚𝟐 + 𝟒𝒚 + 𝟏 =  𝟏 − 𝟎 − 𝟐 + 𝟎 + 𝟎 + 𝟏 

                                                                    =   𝟏 − 𝟐 + 𝟏 = 𝟎 

 

 Winners of Last Quiz:   

Faculty: Prof.T.ArunPrasath,EEE at 11.20 am  

No of participated = 2, No of correct answer = 2 

Student: Nobody  

No of participated = 6 , No of correct answer = 0 


